
Dear Nunzio Romano, 

 

thank you very much for handling my manuscript. 

I am sorry to contact you again but I noticed a small but significant error in one of the equations in 

the manuscript. 

When describing the truncated log-normal distribution in Equation (10), I added the parameter 

indicating the ‘time of truncation – λ’ to the first term (in the denominator) but forgot to add it also 

to the second term (in the exponential). 

Would you please approve the change from this: 

𝑇𝑟𝑢𝑛𝑐(𝑡) = {
1

(𝑡 + 𝜆)𝜎√2𝜋
𝑒𝑥𝑝 [−
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1
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} 

to this: 

𝑇𝑟𝑢𝑛𝑐(𝑡) = {
1

(𝑡 + 𝜆)𝜎√2𝜋
𝑒𝑥𝑝 [−

(ln( 𝑡 + 𝜆) − 𝜇)2

2𝜎2
]} / {1 − ∫

1

𝑡𝜎√2𝜋
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𝜆

𝑡=0

} 

 

Best regards and thanks a lot, 

Ingo Heidbüchel 




